
KARTA PRACY 

 

1. The perimeter of a quadrangle equals 32cm. After dividing the figure with a diagonal, 

there are two triangles with 18cm and 20cm perimeters. What is the length of the 

dividing diagonal? 

 

…………………………………………………. jest równy 32cm. Po podzieleniu figury ……………… 

powstają dwa ……………. o obwodzie 18cm i 20cm. Jaka jest długośd dzielącej 

przekątnej? 

 

Solution/Rozwiązanie: 

 

 

 

 

 

Answer: 

Odpowiedź: 

 

2. In the basement there are 7 barrels full of honey. One barrel with honey weighs 60kg. 

Each barrel is 50kg lighter than the honey in this barrel. Calculate the total weight 

of the honey in all the barrels. 

 

W piwnicy jest 7 beczek z miodem. Jedna beczka z miodem ……….. 60kg. Każda beczka 

jest o 50kg ………………… miód w tej beczce. ………………………….. miodu we wszystkich 

beczkach razem. 

 

Solution/Rozwiązanie: 

 

 

 

 

Answer: 

Odpowiedź: 

 

 

 



3. There are two dragons: red and green. If the red dragon had 6 heads more than 

the green dragon, both of them would have 34 heads altogether. But in fact the red 

dragon has 6 heads less than the green dragon. How many heads has the red dragon 

got? 

 

Są dwa smoki: czerwony i zielony. Gdyby czerwony smok miał ……………………….. 

zielony smok, obydwa smoki miałyby łącznie 34 głowy. W rzeczywistości/tak 

naprawdę czerwony smok ma o ……………………. zielony smok. …………. ma czerwony 

smok? 

 

Solution/Rozwiązanie: 

 

 

 

 

 

 Answer:  

Odpowiedź:  

 

4. Jan is 4 years old. Tomek is twice the age of Jan. In how many years will the boys 

be 80 years old together? 

 

Jan ma 4 lata. Tomek jest …………....... starszy niż Jan. ……………. obaj będą mieli razem 

80 lat? 

 

Solution/Rozwiązanie: 

 

 

 

 

 

Answer:  

Odpowiedź: 

 

 

 

 



Zadania ratunkowe: 

 

1. There were 9500 spectators at a football match. 6375 of them were men. From the 

remaining spectators, there were 4 times as many children as women. How many 

children were there? 

 

Na meczu piłki nożnej było 9500 widzów. 6375 z nich to mężczyźni. Z pozostałych 

widzów było ……………………. dzieci ……. kobiet. Ile było dzieci? 

 

Solution/Rozwiązanie: 

 

 

 

 

Answer:  

Odpowiedź:  

 

2. A book has got 250 pages and there are 44 lines on each page. How many pages 

would it have if there were 40 lines on each page? 

  

 …………………………………., a każda strona zawiera 44 wiersze. ……. miałaby …….., gdyby 

 na każdej stronie znajdowało się 40 wierszy? 

  

Solution/Rozwiązanie: 

 

 

 

 

Answer:  

Odpowiedź:  

  

 

 

 


